
www.NutriChefKitchen.com

Features:
• Zinc Plated Charcoal Grill
• Bakelite Cover Handle and Plastic Cool Touch Handle on Unit
• Multi-Functional BBQ Grill
• Ideal for Outdoor Use
• Durable Steel and Anti-Rust
• Heavy-duty and Solid Construction
• With Wheels on the Bottom to Help Transport when Needed
• Attached Steel Firebox Helps Reduce Smoking
• Sleek and Stylish Black Design
• Made of Durable Steel, Anti-Rust
• Side Shelf that Holds Food and Tools for Added Convenience
• With Fire Box, Cooking Chamber, Chimney, Front Shelf and Adjustable Damper
• Lid-mounted Temperature Gauge
• Suitable for Bake. Braise, Smoke, Roast, and Grill
• Removable Charcoal Pan 
• Cool-touch Spring Handles
 
Technical Specs:
• Construction Material: Steel
• Cover: 22.84’’ x 0.63’’ x 0.023” -inches
• Charcoal Bow: 22.64’’ x 0.99’’ x 0.031” -inches
• Finish: Shinning Black Coating
• Cooking height：2.68” -inches
• Grill Mesh: 21.26’’ x 0.16’’ x 0.11” -inches (Chrome Plated)
• Charcoal Mesh: 15.35’’ x 0.14’’ x 0.10” -inches (Chrome Plated)
• Bottom Mesh: 25.60’’ x 18.90’' x 8’’ x 0.16’’ x 0.12” -inches (Chrome Plated)
• Ash Container: 8.46’’ x 5.12’’ x 0.02” -inches
• Long Foot: 1.26’’ x 22.83’’ -inches
• Short Foot: 1.26’’ x 20.08’’ -inches
• Pizza Plate S.S Ring: 22.64’’ x 0.90’’ x 0.031” -inches
• Product Dimensions: 1.89’’ x 1.78’’ x 2.83'' -inches



www.NutriChefKitchen.com

Parts List

A

B

D

E

13x

3x

2x

1x

M6x12

M6x40

M8

C F 2xM6x12M5x10

M6

3x

1

2

3

4

5

6

7

8

10

9

3x

1x

1x

1x

1x

3x

3x

1x

1x

2x

11

12

13

14

15

16

17

18

20

19

1x

2x

1x

1x

1x

1x

1x

2x

2x

1x



www.NutriChefKitchen.com

Assembly Instructions

6

7

9

STEP 3

B A

8

A. M6x12                        6x

B. M6x30                        3x

11

STEP 4

STEP 2

5

1 A

STEP 1

1

2

3

4

A
A

19

A. M6x12 3x A. M6x12 3x



www.NutriChefKitchen.com

Assembly Instructions

D

D. M8            2x

12

STEP 5

C

10

STEP 6

C. M5x10                      3x

STEP 8

16

17

18

E. M6                  1x

F. M6x12                  2x

STEP 7

20

13

14
15

E

F

Questions? Comments?
We are here to help!

Phone: (1) 718-535-1800
Email: support@pyleusa.com


